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Global solution branch of equilibrium solutions with d

d
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spatially non-constant equilibrium 

(Turing’s pattern)

The solution is approximated by the system with d = 0.

nt = {(d + h(c))n}xx

ct = dccxx + an - bc
t > 0,  0 < x < L

nx = cx = 0 t > 0, x = 0, L

nt = {(d + h(c))n}xx + d(1 – n/K)n

ct = dccxx + an - bc

nx = cx = 0

t > 0, 0 < x < L

t > 0, x = 0, L

where d is sufficiently small.

n (0,x) = n0(x), c(0,x) = c0(x) , 0 < x < L

n (0,x) = n0(x), c(0,x) = c0(x) , 0 < x < L

dt
M(t) = 0

d
M =  n dx
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